Baokég Ae&erg yewpeTplag
(Basic geometry words)

euBela = line

Kd&Betog = perpendicular
omnpeio = point
KOTOOKELT| = construction
KEVTPO = center

KEVTpX = centers
KUKAOG = circle

aktiva = radius
Siapetpog = diameter
HeyaAUTEPOG = greater
Brpota = steps

amno = from
oe = to
pe = with

yp&@ovpe = we write

Tuxaia = random

TEPV = intersect

EVOV® = connect

Bewpovpe = we consider

€KTO¢ = outside of

€v0vypappo Tanpa = line segment
pecokabetog = perpendicular bisector

Kataokevi] pecokabétov evog evf0ypappon Tpipatog
(Construction of a perpendicular bisector of a line segment)

Brpata
(steps)

1) Kataokevace 1o e000ypappo tpnpa AB
(Construct line segment AB)

2) Me kévipa ta onpeia A ko B kot aktiva peyaAotepn ano (AB/2) , ypagovpe kvkAoug (cl),
(c2) oo tépvovron ota onpeia K ko A
(With centers points A and B and radius greater than (AB/2), we draw circles (c1), (c2) that
intersect at points K and A\)

3) Evavovpe ta onpeta K ko A. To go00ypappo tpnpa KA eivon 1) pecokadetog tov AB.
(We connect points K and A. Line segment KA is the perpendicular bisector of AB)



Baokég Ae&erg yewpeTplag
euBela = line 9
K&Betog = perpendicular
omnpeio = point

KOTOOKELT| = construction
KEVTPO = center

KEVTpX = centers

KUKAOG = circle

aktiva = radius

Siapetpog = diameter
HeyaAUTEPOG = greater
Brpota = steps

amno = from
oe = to
pe = with

yp&@ovpe = we write

Tuxaia = random

TEPV = intersect

EVOV® = connect

Bewpovpe = we consider

€KTO¢ = outside of

evBuypappo tunpa = line segment
peookaBetog = perpendicular bisector
Syyotopog yoviag = angle bisector
KOpLOI] = vertex

10&0 (KOKA0VL) = arc (of a circle)
TAgLPEG (Yoviag) = sides (of an angle)
181a = same

€00 TEPIKO = inside , inner side
xapalovpe = we draw

Kataokeon Siyotopov yoviag
(Construction of an angle bisector)
Brijpata
(steps)
1) Kataokevaoe Toyaia yovio e Kopuor) To cnpeio P.
(Construct a random angle with point P as the vertex)
2) Me kévtpo To onpeio P kot aktiva toyaid, xapaovpe T0E0 oL TERVEL TIG TTAELPEG TG
yoviag ota onpeia A ko B
(With center point P and random radius, we draw an arc that intersects the sides of the angle
at points A and B)
3) Me kévipa ta onpeia A kot B ko aktiva v idia, yapalovpe toda mov tTépvovtat 6To
E£0OTEPIKO NG YOVIAG 0T0 onpeto I'.
(With centers points A and B and radius the same, we draw arcs that intersect inside the angle at
point I')
4) Evovovpe ta onpeta P kon T,
(We connect points P and I')

H snfsia PT sivan n S1ivatanne tne < APR



Kataokeun 160V YoV
(Construction of equal angles)
Brjpata
(steps)
1) Kataokebaoe Toyaia yovia pe Kopven to onpeio P.
(Construct a random angle with point P as the vertex)
2. Xapadovpe npevbeia ano to onpeio A.
(We draw a ray from point A)
3) Me kévtpo To onpeio P kot aktiva toyaid, xapalovpe T0E0 oL TEPVEL TIG TIAEVPEG TNG
yoviag ota onpeta B ko T'.
(With center point P and random radius, we draw an arc that intersects the sides of the angle
at points B and I')
4) M€ KEVTPO TO ONPEL0 A KOt aKTiva TNV 1810, yapdalovpe 108o mov Tépver v npevdeia
010 onpeio A .
(With center point A and radius the same, we draw an arc that intersects the ray at points B and I')
5) Me kévtpo 1o onpeio A kot aktiva B, yapalovpe t0o ov tépvet to mponyvpevo oto onpeio E.
(With center point A and radius BI', we draw an arc that intersects the previous at point E)
6) Evovovpe ta onpeta A kot E.
(We connect points A and E)

H yovia <EAA givat ton pe v <BPT.
(The angle <EAA is equal with the angle < BPT'

nuevleia = ray
TI(POT]YOVHEVO = previous



Kataokevn evbseiag (A) mov mepvdet ano onpeto P ko eivon tapdAANAN o€ pia aAAn evbeia (g)
(Construction of a line (A) that goes through a point P and is parallel to another line (¢))

Bripata
(steps)
1) @ewpovpe gvbeia (€) kKo Eva onpeio P extog vbeiag.
(We consider a line (€) and a point P that does not belong to (€))
2. Xapadovpe npevbeia (1) mov nepvagl ano to onpeio P kon tépver my (g) oto onpeio A.
(We draw a ray (n) that goes through point P and intersects (¢) at point A)
3) Kataokeon yoviag pe kopvon to onpeio P, ion pe ) yovia pe kopoer 1o A.
(Construction of an angle with point P as vertex, equal to the angle with A as vertex)
4) H gu0sta (M) ¢ yoviag pe kopuor) to P, mov tépver v (1) givon TaparAnAn pe v (€)
(Line (A) of angle with P as vertex, that intersects ray (1)), is parallel to (¢))

A/l €)

IMapaAAnAn = parallel
nepvaet = goes through
nNuevleia = ray
TIPOT]YOVHEVO = previous
vertex = KopooQn

yovia = angle
xapalovpe = we draw
10&0 = arc



Kataokevi] 160TTAE0pOL KAl LGOGKEAODG TPLYDVOD
(Construction of an equilateral and an isosceles triangle )
Bripata
(steps)
IXOIIAEYPO :
(equilateral)
1) Xapadovpe evB0ypappo tunpa BI.
(We draw line segment BI")
2) Me kévipa ta onpeia B ko I' ko aktiva BT, xapalovpe to&a mov tépvoviat 6To onpeio A.
(With centers, points B and I" and radius BI', we draw arcs that intersect at point A)
(To tpiywvo ABI givat 160TTAELPO)
(The triangle ABT is equilateral)

IXOXKEAEY :
(isosceles)
1) Xapalovpe ev@vypappo tprpa BI.
(We draw line segment BI")
2) Me kévrpa ta onpeta B kon I' ko aktiva Stagopetikn g BT, yapalovpe to&a mov tépvovtat
6710 onuElo A.
(With centers, points B and I'" and radius different than BI', we draw arcs that intersect at point A)
(To tpiywvo ABI €ivat 16OKEAEG)
(The triangle ABT is isosceles)

Tplywvo = triangle
100TtAgVpo = equilateral
1000KeAEG = isosceles
Sraopetikn = different



KataoKeui] KOKAOD TIEPLYEYPAUHEVOD GE TPLYDVO
(Construction of a circle circumscribed in a triangle)
Bripata
(steps)

1) Oewpovpe 1o Tpiywvo ABI.
(We consider the triangle ABT)

2) Kataokevalovpe T pecokabdetovg tov AB ko BI'. To onpeio topng tov, P eivat to kKévipo
TOV KUKAOV.
(We construct the perpendicular bisectors of AB and BI'. Point P, the intersection of the
perpendicular bisectors is the center of the circle )

3) Xapalovpe KOKA0, e KEVTPO 10 onpeio P ko aktiva PA 1) PB 1] PT, tov iepvaetl amno to
onpeila A, Bk T'.
(We draw a circle, with center point P and radius PA or PB or PI', that passes through points A, B
and I

TEPLyeypappévoL = circumscribed
oSuymvio = acute angle
apfivywvio = obtuse angle



KataoKev] KOKAOD EYYEYPAPHPEVOD GE TPLYWVO
(Construction of a circle escribed in a triangle)
Bripata
(steps)

1) Oewpovpe 1o Tpiywvo ABI.
(We consider the triangle ABT)
2) Kataokevalovpe TG S1X0T0p00G TV yoviav <A kat <B , mov tépvovton oto onpeio P.
(We construct the angle bisectors of angles <A and <B , that intersect at point P)
3) Kataokevalovpe evbeia ano to onpeio P, kabetn oto AB, ¢to onpeio X.
(We construct a line from point P, perpendicular to AB, at point X)
4) Me kévtpo 10 P ko aktiva P, Katackeva{ovpe KOKAO, oL €ival eyyeypappévog oto ABT.
(With center point P and radius PX, we construct a circle, that is escribed to triangle ABI")

gyyeypappévov = escribed
Siyotopog = angle bisector



Kataokevi] Kavovikoo eEay®@vou Kot IGOTTAEDPOD TPLYDVOD
(Construction of a regular hexagon and an equilateral triangle)

Brjpata
(steps)
1) Xapalovpe KOKAO (K) PE TOXALA AKTIVAL.
(We draw circle (k) with random radius)

2) Me v 18w aktiva xapalovpe S1a80ikd T0Sa AV 0TV TEPLYPEPELA TOLD KOKAOD, TIOV TELIVOLV
ov (K) ota onpueia A, B, T, A, E ko Z.
(With the same radius we draw consecutive arcs on the circumference of the circle, that intersect
(x) atA,B,I',A,Eand Z.)

3) Evavoope ta onpeia Kot oYnpati{ovpe 1o Kavoviko eEayovo ABI'AEZA.
(We connect the points and form the regular hexagon ABI'AEZA.)

4) Evovoupe ta onpeia A, T, E ko oxnpati{ovpe 1o 160mAgvpo tpiywvo ATE.
(We connect points A, T', E and form the equilateral triangle AT'E.)

Kavoviko eSayavo = regular hexagon

100TTAEVPOVL TPy®Vo = equilateral triangle
Sradoyika to&a = consecutive arcs

TEEPLYEPELA TOV KUKAOL = circumference of the circle
oynpatiovpe = we form



Kataokeon Kavovikov §mdekaymvon
(Construction of a regular dodecagon)

Brjpata
(steps)
1) Xapalovpe KOKAO (K) PE TOXALA AKTIVAL.
(We draw circle (k) with random radius)

2) Kataokeoda{ovpe €va KaOVOVIKO e§aywvo.
(We construct a regular hexagon.)

3) Kataokevaovpe TiG pECOKADETOVG TV TTAELP®V TOL £EAYDVOD KL GT|IELOVOVHE TA
GT|HELX TOTG TOVG HE TV TIEPLOEPELX TOV KUKAOD (K).
(We construct the perpendicular bisectors of the sides of the hexagon and mark their intesection
points with the circumference of the circle (x))

4) EVOVOUHE OAX TA GTJHELN TAV® CTIV TIEPLYEPELA TOV KDKAOD KU GYIIATI{OVHIE TO KAVOVIKO
Swdekaywvo.
(We connect all the points on the circumference of the circle, and form the regular dodecagon)

Kavoviko Swdekaymvo = regular dodecagon
TEPLYEPELA TOL KVKAOL = circumference of the circle
onpeEL@vovpE = we mark

oynpatiovpe = we form



KataoKevn TETPAY®OVOL KAl OKTAYMVO.
(Construction of a square and an octagon)

Brpata
(steps)

1) Xapadovpe kOkAo0 (K) pHE TOXALA AKTIVAL.
(We draw a circle (k) with random radius)

2) Xapalovpe toyaia Stapetpo AB Tov KOKAOL (K).
(We draw a random diameter AB of the circle (k).)

3) Kataokevalovpe tn pecokadeto I'A tng AB, Tov givan €nioTg StapeTpog Tov (k).
(We construct the perpendicular bisector I'A of AB, which is also a diameter of (k).)

4) Evovoupe ta onpeia A,B,I" ko A.
(We connect the points A,B,I" and A.)

5) To moAvywvo ABI'A givon TETpAY®VO.
(The polygon ABTI'A is a square.)

6) Katackevalovpe i peookadétovg twv AT, I'B, BA, AA , IOV TEPVOLV TNV TIEPLOEPELA TOV
KUKAov ota onpeia E, Z, H, 6.
(We construct the perpendicular bisectors of AT", I'B, BA, AA, that intersect the circumference of
the circle at points E, Z, H, ©.)

7) EvOVoupe Ta 8 onpEla TAVR GTIV TIEPLYEPELA TOV KUKAOD .
(We connect the 8 points on the circumference of the circle.)

8) To moAvywvo AEI'ZBHA® givat 0KTAY®VO.
(The polygon AEI'ZBHA® is an octagon .)

TETPAYOVOL = square
OKTAY®VO = octagon
Swapetpog = diameter
emiong = also
TOAOYwvo = polygon



KaTtaoKevI] KOVOVIKOD TIEVTAYMVOU.
(Construction of a regular pentagon)

Bruata
(steps)

1) Xapalovpe KOKA0 (K1) pe Toxaia aktiva Kot Kévrpo O.
(We draw circle (ki) with random radius and center O.)

2) Xapadovpe opOra Srapetpo (81) pe onpeio topng A.
(We draw a vertical diameter (81) with intersecting point A.)

3) Xapalovpe Stapetpo (82) kabetn otn (81), pe onpeto toprg B.
(We draw a diameter (8:) perpendicular to (81), with intersecting point B)

4) Xapalovpe ) pecokabeto tov OB, 6to onpeto I'.
(We draw the perpendicular bisector of OB, on point I'.)

5) Me kévrpo 1o I' ko aktiva AT yapalovpe t0&o, mov tépver tny (82) oto A.
Me kévtpo 10 A Ko aktiva AA yapalovpe T0&o, oL TEPVEL TOV (K1) oo E.
(With center point I and radius AI" we draw an arc that intersect (8:) at A.
With center point A and radius AA we draw an arc that intersect (ki) at E.)

6) Xapalovpe Sradoyika T0Sa MAVK TNV IEPLYEPELA TOV (K1) pE akTiva AE.
EV®OVOULHE Ta 5 GIHELX TTAV® OV TIEPLPEPELA TOV KDKAODL.
(We draw consecutive arcs on the circumference of (ki) with radius AE.
We connect the 5 points on the circumference of the circle.)

TIEEVTAY®VOL = pentagon

opOix Suapetpo = vertical diameter
Swadoywka = consecutive
TMEPLPEPELA = circumference



KaTaoKevI] KOVOVIKOD ETTAYROVOD.
(Construction of a regular heptagon)

Bruata
(steps)

1) Xapalovpe KOKAo (kK1) pe kévrpo K kon toyaia aktiva .
(We draw circle (ki) with center K and random radius.)

2) Xapadovpe pia Srapetpo (8) mov tépver tov (k1) ota onpeia A ko B.
(We draw a diameter (8) that intersects (ki) at points A and B.)

3) Xapalovpe 100 pe kévipo to B kan aktiva BK, mov tépvet tov (k1) ota onpeia I' ko A.
(We draw an arc with center point B and radius BK, that intersects (ki) at points E and A)

4) Xapalovpe S radoyikd T0&a mave oty TEPLOEPELX TOL (K1) pE aktiva 'A/2=AE.
(We draw consecutive arcs on the circumference of (ki) with radius I'A/2= AE.

5) Evovoupe ta 7 GTjHELX TOHNG TOV TOSmV.
(We connect the 7 intersection points of the arcs.)

TEVTAYOVOL = heptagon
Swadoyka = consecutive
MEPLYEPELA = circumference



Kataockeui] AovAovd100 amo Kavoviko eEaymvo KAt 160TTAEDpA TPlymVva.
(Construction of a flower from a regular hexagon and equilateral triangles)

Bruata
(steps)

1) Kataokevalovpe éva Kavoviko eEaywvo.
(We construct a regular hexagon.)

2) Xe kale MAevpa 1oL EEAYOVOL KATAGKEVALOVHE LGOTTAELPO TPLYWVO.
(In every side of the hexagon we construct an equilateral triangle.)

3) EnavaAapfavovpe ) Stadikacia pe Kavoviko §odekaywvo.
(We repeat the process with a regular dodecagon)

AovAovdt = flower
enavaAlappavoope = we repeat
Swadikaoia = process



